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AR N Wy
B Aol AR As)
e sy 2 OOHE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 70,000 70,000 0
= 70,000
08 w=J|20CHet 2 X 70,000 70,000 0
O==4H DnEds K& 70,000
= 70,000
2 ES - 2l 13,684,539 3,702,010 9,982,529
= 10,118,500
= 3,566,039
AN O & 2= (KIREA) 56,000 56,000 0
= 28,000
= 28,000
308 XtXIEMSO0IE 56,000 56,000 0
= 28,000
s 28,000
18 SIS0t oA AS A 56,000 56,000 0
O AEHZAL 56,000
= 28,000
[ 28,000
AE2telole Sd Al 657,200 502,200 155,000
= 530,000
= 127,200
403 AXIEHHSAH=201H 657,200 502,200 155,000
= 530,000
= 127,200
01 AR A =2 £ 657,200 502,200 185,000
OE&elog 54 A& 657,200
= 530,000
== 127,200
N X 1,040,172 626,280 413,892
201 er=23y| 5,000 10,000 /5,000
01 AtR2t2|HI 5,000 10,000 25,000
OZXNNEIts IHE 8 = 5,000
308 AFAIEHMSOIE 1,035,172 616,280 418,892
01 XN EES 1,020,400 616,280 404,120
Ooldog 3XMEes X2 1,000,000
Oxgs e SItAtel =i 20,400
14 JIEtR83 14,772 0 14,772
OSd0lg &¢=5J12 2x3 14,772
HgExX=d 2 1,804,525 1,026,810 777,715
201 fer= 3| 705,000 719,350 14,350
01 At 2|l 43,000 43,350 A350
ONgN=d=d 43,000




S AT
B Aphel AR As)
gelr g 23 - 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 662,000 676,000 14,000
O=s2= & HAl 200,000
O =Xl 462,000
202 04| 49,525 49,525
01 2LHAH| 22,300 22,300
ONXE & =0ty K& 22,300
02 XN 27,225 27,225 0
ONHGXIEEr= 27,225
401 Al HIZL 201 1,050,000 250,000 800,000
01 Al&HI 1,050,000 250,000 800,000
ONgX=d HIl==cltl 1,050,000
23 2CIANRL 2 84,000 64,920 19,080
101 @1A4H| 22,200 0 22,200
04 JIZtNZ22 XS 2+ 22,200 0 22,200
OZe|AtRA D222 XS 21| 22,200
201 2= 61,800 64,920 A3,120
01 At22t2l] 25,800 10,000 15,800
OZCIAMRA AR 22| 25,800
2 352484l 36,000 54,920 18,920
OZeMRA SS2EH| 36,000
&AL OIZAIAE 15 61,000 84,800 A23,800
= 30,500
& 30,500
403 AXIEHMSA=Z0l1d 61,000 84,800 A\23,800
= 30,500
= 30,500
01 XIS A =2 61,000 84,800 /23,800
OUE AL HIZAIAE 2= XY 61,000
= 30,500
= 30,500
g fUXEZ HH2= 710,000 630,000 80,000
= 365,000
[ 365,000
403 AXIEHMSAH=0ld 710,000 630,000 80,000
= 365,000
S 365,000
01 AXISHHA=2 22X 710,000 630,000 80,000
OL=012 - ¥4I, EdI&X - uH X2 710,000
= 365,000
= 365,000
HEHE0AES 677,142 711,000 A33,858
= 600,000




SA AR
B Aphel AR As)
el oY 25 - 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 77,142
308 AXIHSOIA 677,142 711,000 A\33,858
= 600,000
= 77,142
01 XN B EES 677,142 711,000 A33,858
OzEd d2od ol 28 677,142
= 600,000
= 77,142
H=2S=H 84,500 0 84,500
= 65,000
< 19,500
308 AXIHMSOIA 84,500 0 84,500
= 65,000
& 19,500
01 HASHHBSEXS 84,500 0 84,500
ONAESSH al+=2el 84,500
= 65,000
= 19,500
2o &&= 8,510,000 0 8,510,000
= 8,510,000
201 fer= 3| 10,000 0 10,000
= 10,000
01 At2teltl 10,000 0 10,000
Oo=tlE =2 10,000
= 10,000
301 EtE NS 8,400,000 0 8,400,000
= 8,400,000
14 0Bt 2as 8,400,000 0 8,400,000
OHgEX&S, IHLXES, HHH ML
INE] 8,400,000
= 8,400,000
401 Al HIZ R 0HHI 100,000 0 100,000
= 100,000
01 Al&H| 100,000 0 100,000
ONdS aiMXcIEs 100,000
= 100,000
=M BS - |4 16,472,719 23,639,764 AT,167,045
= 3,559,777
== 12,912,942
SR E Y 48,000 95,400 AN47,400
403 MR HHMSAHE01H 48,000 95,400 N47,400
01 MHXIHH A =222 48,000 95,400 AN47,400
O ediie 48,000
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ol A 25 'Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 XN B2 LS 2,308,050 2,308,050 0
Ot SIS = 2,308,050
18 SIS0t HAS A 200,000 200,000 0
OB NHEFEUEA 200,000
LA E 2el(MEALY) 1,759,230 1,629,750 129,480
308 AtXIEHMSOIE 851,625 1,629,750 AT78,125
01 X SHHEAEXS 851,625 1,629,750 AT78,125
OoA0Y Hat 696,000
OxttE M= £X 155,625
403 MR SHHMSAH=01H 907,605 907,605
01 AXISHHA 22 £ 907,605 907,605
ogalngdg=z &1l 907,605
ISREES K& 487,286 223,714 263,572
= 379,000
= 108,286
403 AXIEHHSAH=201H 487,286 223,714 263,572
= 379,000
= 108,286
01 AR A =2 £ 487,286 223,714 263,572
OseH 25 N 487,286
= 379,000
=S 108,286
FSFNHXIES(SIEHIE) 2,816,829 2,766,450 50,379
= 2,640,777
< 176,062
403 MR EHHSAHE01H 2,816,829 2,766,450 50,379
= 2,640,777
= 176,052
01 XIS A=E £ 2,816,829 2,766,450 50,379
OZEANHX ES(3EHE) 2,816,829
= 2,640,777
= 176,052
SOl ME R MAF (£72H) 90,000 38,940 51,060
= 90,000
308 AXIHMSO0IA 90,000 38,940 51,060
= 90,000
01 HAHHBAEES 90,000 38,940 51,060
OFHdE ()P MA 90,000
= 90,000
SO RA A A B ZLAIS (SHEEXR) 330,000 330,000 0
308 AXIHSOIA 330,000 330,000
01 XN BSELS 330,000 330,000




S AT
B SaQ AW As
el =M RE 22 - 5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| OFUTMRHAE THAY 330,000
HZTITHOI X (HEAN) 928,224 1,186,800 A258,576
408 T IS KHE20IH 928,224 1,186,800 258,576
01 REXIEHRIA 2 2 2 928,224 1,186,800 A\258,576
OJIFElAE Szt A 928,224
SANENSSAIE FHIXIH (M EAI) 186,000 186,000 0
403 RXIHHMSA=01H 186,000 186,000
01 REXIEHMIAt 2 2 2 186,000 186,000
OQANBNSEAL £X 186,000
A0F Sg ZUHE 2 USHO Cole 25 60,000 60,000 0
308 ARISHMSOIE 60,000 60,000
PR == 60,000 60,000
O0l0iz S8 DLIEIZ % IEHO0! GlOIE
EEN 60,000
BICHEZ AR (ROIRERIR) 5,640 5,640
308 XIXIEHRISOIE 5,640 5,640
01 MASHBaExE 5,640 5,640
Os&EZE tit= 24 5,640
OE - Og e 45,867,976 50,466,456 24,598,480
2 27,641,382
= 8,226,594
5 10,000,000
XA 2l (K1) oA E (M EtAr) 11,160,500 13,130,000 21,969,500
= 1,160,500
= 10,000,000
401 AI2HIX 20HH 11,160,500 13,130,000 21,969,500
= 1,160,500
= 10,000,000
01 Al&H| 10,630,500 12,600,000 1,969,500
ONEoiE A4 10,630,500
= 630,500
= 10,000,000
02 &eldl 500,000 500,000 0
Ongoig 244 500,000
03 Al2=0HbI 30,000 30,000 0
S ENEEE 30,000
ogE+=22X# 1,205,000 1,177,500 27,500
403 MXISHHSIH=Z01H 1,205,000 1,177,500 27,500
PR PEEES 1,205,000 1,177,500 27,500
Oolgt B4 900,000
OO 3HIAI 305,000
AHOIM Q12| HX(HEAR) 263,590 263,590 0




SA AR
B Aphe) AR As)
Rl oE - OE OHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=01& 263,590 263,590
01 AXISHHA =2 & 263,590 263,590
OA80d g &X 263,590
S8Is RERAIE AX(HEAY) 1,175,200 1,175,200 0
403 MR HMSAHE01H 1,175,200 1,175,200
01 A= 2L 1,175,200 1,175,200
O=glls fF&uAlg £X 1,175,200
EY ST ZAMAML(Z2EN) 90,000 30,000 60,000
401 AIEHIZ SR HYI 90,000 0 90,000
01 Al&HI 90,000 0 90,000
O8d = F2HLA 90,000
HENS ALY HRFA 11,475 12,750 1,275
201 er23 | 11,475 12,750 1,275
01 At2teltl 11,475 12,750 A1,275
OUEHSTHHAI (U E57E300AH, 01EL
SHSIANY) RFA 11,475
HEESESIXNE AEAS 1,659,000 1,106,000 553,000
[ 1,470,000
= 189,000
403 AXIEHHSA=201H 1,659,000 1,106,000 553,000
[ 1,470,000
= 189,000
01 AR A =2 £ 1,659,000 1,106,000 553,000
ONZEEASTRE AEAS 1,659,000
s 1,470,000
s 189,000
HEMSASTAIA(1R}) 25,193,211 9,674,185 156,519,026
[ 21,871,382
= 3,321,829
403 AXIEHMSAH=Z01d 25,193,211 9,674,185 15,519,026
[ 21,871,382
= 3,321,829
01 XIS A =2 25,193,211 9,674,185 15,519,026
OOlEAZHASTAIH(1XH) 25,193,211
= 21,871,382
= 3,321,829
HELEASTIAIA (27}) 5,110,000 0 5,110,000
= 4,300,000
[ 810,000
403 MR HHMSAHE01H 5,110,000 0 5,110,000
[ 4,300,000
= 810,000
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